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HW #6

(1) _____________ is composed of a twisted backbone of sugar molecules and phosphate that, if untangled, would stretch a yard long. Running between them are 3 billion rungs of information – pairs of interlocking molecules called (2) ______________. They come in only four different forms, (3) _____________, _____________, _____________, _____________, and serve as a brief alphabet for life’s instructions. Floating close by are (4) _____________, that keep the strands wound up tightly and yet allow it to be easily read. When signaling molecules arrive from the outside,        

(5) _____________ lock onto stretches of the DNA and reproduce them in short strands. These copies are shuttled to blob-shaped factories floating throughout the cell (6) _____________, which use the strands as a (7) _____________ for joining 

(8) _______  ________ to synthesize _____________.

